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(1) latm, 298K 0000000000000 0000O0O0O0

(25°C) SO2(g) | SOs(g) | Oa2(g)
AHF[kJ/mol] | —297.0 | —395.2
SO[J/K-mol] | 247.0 | 256.2 | 205.1
R =8.3JK 'mol !

(2) latm, 1000KO0D0O0O000000O0O0O000

(25°C) SO2(g) | SO3(g) | O2(g)
Cp[J/K-mol] | 48 69 33.5
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00 5 At 200K, BeO(s) vaporizes mainly according to the reaction:

BeO(s) = Be(g) + O(g)

Use the following data to calculate:

(1) an equation representing log 10K as a function of temperature in the 1800-2200K range, and

(2) the pressure of Be(g) at 2000K (assume the pressure of Be(g) and O(g) are incidental)

SPECIES BeO(s) | Be(g) | O(g)
AH}(kJ/mol) | -604.2 | +305.0 | 255.2
AS3(J/mol —K) | -100.8 | +110.9 | +66.9

Typeset by AAS-IMTEX



